The following portrays how other fall protection manufacturers say you should calculate fall distance. 
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Free fall distance is 6 ft (lanyard length), deceleration distance is 3 ½ ft (tear away) and your ten foot building increment would be located around mid-torso of the bottom figure.
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Calculating Fall Clearance Distance Using a Shock-Absorbing Lanyard and D-Ring Anchorage Connector

First, add the length of the shock-absorbing lanyard (6 ft.) to the maximum elongation of the shock absorber during deceleration (3-1/2 ft.) to the average height of a worker (6 ft.).

Then, add a safety factor of 3 ft. to allow for the possibility of an improperly fit harness, a taller than average worker and/or a miscalculation of distance.

The total, 18-1/2 ft. is the suggested safe fall clearance distance for this example.
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In a real world situation, the Dennington system allows a lower tie off point and basically combines both free fall and deceleration distance for a total 6 ft fall distance, period.  This is the original minimum fall protection standard which did not allow the extra 3 ½’ elongation and would clearly let you contact the lower level.




Manufacturers state that when using fall protection systems, you must tie off over your head to keep you within compliance limits.   These places do not exist in a fair amount of instances such as an ironworker on top of a structure being built or workers performing duties inside an aerial lift.  

The first two pictures, created by other manufacturers, basically mislead the public in more ways than one.  They do not show true distances (ten ft increments between floors) since in the first picture, the lower level isn’t portrayed although a higher level is shown as a tie off point.  It is unrealistic to believe that any worker can reach up and tie off to a higher level.  For example, if you were stand up in your office could you reach through the ceiling and hook off to the next level?  A standard drop ceiling is 8ft between floor and ceiling with 2ft of clearance between the ceiling and the next floor.  The tie off point portrayed is a fictional point.   

Although the lower level is portrayed in the second picture, it is also inaccurate as a worker would not be able to stand on one level and reach up to tie off to the other.  If you’re not tied off over the top of your head, you’re not properly rigged and in most instances, there is no way to be properly rigged which is a recognized hazard.  If there’s no way to be properly rigged then the only people who are being protected are the manufacturers, not the people who are wearing the harnesses.  

The Bureau of Labor Statistics figures show the following: In 2002 there were 86,946 falls to a lower level;  In 2003, there were 82,670; in 2004 there were 79,800 falls; in 2005 there were 79,310 falls for a total of 328,726 falls to a lower level.  


See the CBS video for a demonstration of the new technology.  The American worker should not be bound by the inability of other manufacturers to meet the original specifications which does not allow the additional 3 ½’. 
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